RE DK

(S 4 E£FE)

— R DORERR
(1) =ERX (B : FF)
RAKEE B e BAREERE | BEEBUMR FHEINK
884,489 868,364 16,125 0 16,125
(2) ®mA
o . FERE (M) AR () IRAE (%)
B (A) (B) (B)./ (A)
1 piEEkN 761,877,000 761,877,000 100.0
=Ei=ke 1 »Ex 761,877,000 761,877,000 100.0
2 FERAEEV 200,000 212,100 106.1
FHER 1 FEE 200,000 212,100 106.1
3 BEIA 178,000 178,789 100.4
1 BEERIRA 178,000 178,789 100.4
4 AT 81,515,000 81,515,000 100.0
1 E&gEAE 81,515,000 81,515,000 100.0
b fgHE 20,114,000 20,114,604 100.0
1 g 20,114,000 20,114,604 100.0
6 FEUNA 5,424,000 5,542,908 102.2
1 fEefF 1,000 1,990 199.0
2 HEA 5,423,000 5,540,918 102.2
7 EEXHE 13,272,000 13,272,000 100.0
1 EE@BE 13,272,000 13,272,000 100.0
8 BXHE 466,000 1,776,800 381.3
1 BaiEs 466,000 1,776,800 381.3
RAGET 883,046,000 884,489,201 100.2
(3) miH
" . FERE (M) FHFE (B) HITE (%)
a (A) (B) (B)./ (A)
1 #E=E 98,000 53,760 54.9
1 ERE 98,000 53,760 54.9
2 W& 59,590,000 56,674,985 95.1
1 BEERE 59,460,000 56,592,005 95.2
2 BEBEZEE 130,000 82,980 63.8
3 JHEKHE 822,500,000 811,537,701 98.7
1 JEBHE 822,500,000 811,537,701 98.7
4 #EXHE 97,000 97,000 100.0
1 HEeE& 97,000 97,000 100.0
5 Flg& 761,000 0 0.0
1 FHE 761,000 0 0.0
BHEAEE 883,046,000 868,363,446 98.3
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BAEE
7 BY (BEfiL : m)
X Pl FENMEIE X v ENEE
TEEEAER - BRIFEVHEIGE 1,565.16 || s 102.34
B HE 459.69 | =JE 108.55
BAENE 663.90 | ;ERIHHREAT 15.00
=) HaRFT 476.61
A4 & (1EFOEEME L 0 0 ARULEOEEY T O HIBE (B : &)
A % wn = m % wn =
AR E 2 BB IR > 1
NEREE 5 HERBIE#EM (—0) 2
SR E ' Lh— | -
SEE R T EEhE g | PERERELAEE R 1
A—bbL—5— (=)
IKFEDEE R T E8E 3 SR ETES Y AT L (—=R) 1
SREMEEEE 5 HyHa Ty gLER (—R) 1
BN T {EE 1
B X E 2
BAXIESE 1
v EE (B 0 )
f& £} B £ &
BGRRES 40,919,000
#51E (BEAf - [H)
& $8 B E &
— 0
—EEAE (BEAf : M)
& £} B £ #E
— 0




3 BEHRE2IEEOIRARRE (SH4EE)
(Ef7: [)
) B 1% BT » B &
¥ B HT =
4 BHA 6 B A 9 A A 12 A4 =t (A)
* & H 76,106,000 76,106,000 76,106,000 71,522,000 299,840,000
K 2 HT 70,606,000 70,603,000 70,603,000 66,210,000 278,022,000
(R ELAT 42.122,000 42,119,000 42,119,000 39,467,000 165,827,000
=t 188,834,000 188,828,000 188,828,000 177,199,000 743,689,000
¥ Rk BT ME2EHENEE (B) & & (A)+ (B)
X & B 7,330,000 307,170,000
K 2 H 6,801,000 284,823,000
FI{REMET 4,057,000 169,884,000
=t 18,188,000 761,877,000




